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405 X&H S 15,000 0 15,000
01 TAUSEHSY 15,000 0 15,000
= 0 &t 15,000 0 15,000
ONMERAL FOUNXME LSSHAAH
22 7 15,000, 00021 * 14! 15,000
eI BCE 50,000 50,000 0
MESW AL 50,000 50,000 0
401 ANZHIL LY 50,000 50,000 0
01 Al&HI 50,000 50,000 0
= 0 4t 50,000 50,000 0
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15,000,00021 * 14! 15,000
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HES SIS (SPHLLM/5Y - 58) 735,000 779,000 44,000
SeIIUEs U HY 735,000 779,000 44,000
SOIIMEA S AT SR (FU A0 735,000 779,000 A 44,000
401 ANZHIL LY 735,000 779,000 44,000
01 Al&HI 733,000 777,050 £44,050
= 0l 4t 733,000 777,050 44,050
OZS0E AYR =3 2 012 o2 Hy|
(L=200m) 25,000,000 * 141 25,000
OHAOIE HEAE DY 24 ZAH(L=150n)
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Os A, 22y 8K X4l 96,000& *103] 960
O8I & &xts 40,0003 «8CH=12& 3,840
ONE=EE S HE 100, 000& x103] 1,000
Og2RFd SZ20adl
8,000 x8F 10 x12& 7,680
02 3=29Y4| 73,200 73,200 0
= 0ff &F 73,200 73,200 0
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= 0ff & 64,800 72,900 A 8,100
OgHNH| 225,000 24X «12& 64,800
203 YRl 15,080 15,080 0
01 JIASHLRE=XH| 9,200 9,200 0
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